EQUILIBRIUM QUANTITIES 1

1
initial moles
change in moles
equilibrium moles

2)
initial moles
change in moles
equilibium moles

3)
initial moles
change in moles
equilibium moles

4)
initial moles
change in moles
equilibium moles

5)
initial moles
change in moles
equilibium moles

6)
initial moles
change in moles
equilibrium moles

7)
initial moles
change in moles
equilibium moles

CHag) + H20@) = COg) + 3 Hzg)

1 1 0 0
-04 -04 +0.4 +1.2
0.6 0.6 0.4 1.2
Nzg) + 3 Hzg = 2NHgg)

0.1 0.1 0

-0.03  -0.09 +0.06
0.07 0.01 0.06
Hag) + l2g = 2Hlg)

10 10 0

-7 -7 +1.4

3 3 14

COzg) + 3Hzg = CH30H() + H20()

1 1 0 0
-0.2 -0.6 +0.2 +0.2
0.8 0.4 0.2 0.2
2S04 + Ozg = 2SOg(y)

2 2 0

-0.7 -0.35 +0.70

1.3 1.65 0.7
PClsg) = PClg + Clxg)

1 1 1

-0.8 +0.8 +0.8

0.2 1.8 1.8
CHag) + H20@) = COq) + 3 Hag
1 1 1 1

-0.2 -0.2 +0.2 +0.6
0.8 0.8 1.2 1.6

8)

9)

10)

11)

12)

13)

14)

initial moles
change in moles
equilibium moles

initial moles
change in moles
equilibium moles

initial moles
change in moles
equilibium moles

initial moles
change in moles
equilibium moles

initial moles
change in moles
equilibium moles

initial moles
change in moles
equilibium moles

initial moles
change in moles
equilibium moles

Nag) + 3Hzg = 2NHgg)
10 0 10

+0.5 +1.5 -1,0

105 15 9
2Hayg + COg) = CHsOH)
0.5 0.5 0
-04 -0.2 +0.2
0.1 0.3 0.2
SOLlyg) = CH30H(g) + Clzg
2.0 0 0
-04 +0.4 +0.4
1.6 0.4 04
2Hzg + COg = CHsOH,
1.2 2.0 0
-04 -0.2 +0.2
0.8 1.8 0.2

COzq) + 3Hzg = CHiOHg + H20(q)

1.0 1.0 0 0
-0.3 -0.9 +0.3 +0.3
0.7 0.1 0.3 0.3

2A + B = C + 3D
5.0 10.0 0 0

-1.0 -05 +0.5 +1.5
4.0 9.5 0.5 15

A+ 3B = 2C + D
2.0 1.0 0 0

-02 -06 +04 +0.2
18 0.4 0.4 0.2
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